
MATHS

BOOKS - MTG WBJEE MATHS (HINGLISH)

A.P.,G.P.,H.P.

Wb Jee Workout Category 1 Single Option Correct Type 1 Mark

1. If  are the sums of n, 2n, 3n terms respectively of an A.P., then 

A. 1

B. 2

C. 3

D. 4

Answer: C

S1, S2, S3

S3 /(S2 − S1) −

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7Ju5Tzp9mYuD


Watch Video Solution

2. In an A.P., if 1 is the first term and the sum of the are 1 first p terms is

zero, then the sum of the next q terms is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

q(p + q)

1 − p

q(p − q)

1 + p

p(p + q)

1 − p

p(p − q)

1 + p

3. In an A.P. , 3 is the first term. If the second, tenth and thirty fourth

terms forms a G.P., then the fourth term of the A.P. is

A. 2

https://dl.doubtnut.com/l/_7Ju5Tzp9mYuD
https://dl.doubtnut.com/l/_QqlDiQw6SJfh
https://dl.doubtnut.com/l/_qcouXsqUNLqo


B. 1

C. 4

D. 6

Answer: D

Watch Video Solution

4. The sum of four numbers in arithmetical progression is 48 and the

product of the extremes to the product of the means as 27 to 35 Find the

numbers

A. 10

B. 12

C. 14

D. 18

Answer: D

https://dl.doubtnut.com/l/_qcouXsqUNLqo
https://dl.doubtnut.com/l/_j0waFNHmLJzz


Watch Video Solution

5. If 
are in A.P., where the distinct numbers 
are in G.P, then

te common ratio of the G.P. is
 
b. 
c. 
d. 

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

x, 2y, 3z x, y, z

3
1

3
2

1

2

1

2

1

3

2

5

6. STATEMENT-1 : If  then

x,v,z are in H.P. 

STATEMENT-2 : If p , q , r in AP and  , then x, y, z

log(x + z) + log(x − 2y + z) = 2 log(x − z)

= =
a − x

px

a − y

qy

a − z

rz

https://dl.doubtnut.com/l/_j0waFNHmLJzz
https://dl.doubtnut.com/l/_dzCa1fwpp93a
https://dl.doubtnut.com/l/_uUGrVxVzHS1S


are in A.P. 

STATEMENT-3 : If  are in A .P. then  are in H.P.

A. 

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

, b,
a + b

1 − ab

b + c

1 − bc
a, , c

1

b

A. P .

7. Divide 28 into four parts in an A.P. so that the ratio of the product
 of

first and third with the product of second and fourth is 8:15.

A. 6

B. 8

C. 10

https://dl.doubtnut.com/l/_uUGrVxVzHS1S
https://dl.doubtnut.com/l/_dokz2pNuFVAV


D. 12

Answer: C

Watch Video Solution

8. Three numbers a, b, c are lies between 2 and 18 such that their sum is

25. 2, a, b, are in A.P, and b, c, 18 are in G.P. Then abc =

A. 360

B. 420

C. 480

D. 540

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dokz2pNuFVAV
https://dl.doubtnut.com/l/_Dr5HVpf8zJRz


9. The sum of an infinite numbers of a G.P. is 2 and the sum of their cubes

is 24. The second term of the G.P. is

A. 

B. 

C. 2

D. 

Answer: D

Watch Video Solution

−
1

2

1

2

−
3

2

10. Find the sum of the series …………..up to

.

A. 

B. 

C. 

+ + +
5

13

55

(13)2

555

(13)2

5555

(13)4

∝

31

18

65

32

65

36

https://dl.doubtnut.com/l/_diOkIT5t2bEd
https://dl.doubtnut.com/l/_bZai0EORryDl


D. 

Answer: C

Watch Video Solution

75
36

11. if  are in  then  are in

A. A.P

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

, b,
a + b

1 − ab

b + c

1 − bc
AP a, , c

1

b

https://dl.doubtnut.com/l/_bZai0EORryDl
https://dl.doubtnut.com/l/_ikkR1kt7dJFu


12. The successive terms of an A.P. are ,….. 


If  then =

A. 75

B. 100

C. 120

D. 150

Answer: B

Watch Video Solution

a1, a2, a3

a6 + a9 + a12 + a15 = 20
20

∑
r= 1

ar

13. If , then n is equal to

A. 12

B. 18

C. 10

=
5 + 9 + 13 + ...upto n terms

7 + 9 + 11 + ...upto 12 terms

5

12

https://dl.doubtnut.com/l/_gTsrgneYOu7J
https://dl.doubtnut.com/l/_BEsZUScnMkbC


D. none of these

Answer: D

Watch Video Solution

14. If the sum to infinity of the series 

is 
, then find 

A. 9

B. 10

C. 12

D. 15

Answer: A

Watch Video Solution

3 + (3 + d) + (3 + 2d) + ∞
1

4

1

42

44
9

..

https://dl.doubtnut.com/l/_BEsZUScnMkbC
https://dl.doubtnut.com/l/_UxGurCm5Qf1N


15. If a,b,c are in H.P., then =

A. 1

B. 2

C. 

D. None of these

Answer: C

Watch Video Solution

c2(b − a)
2

+ a2(c − b)
2

b2(a − c)
2

1

2

16. The sum of the first n terms of the series

 is

A. 4410

B. 4210

C. 4120

12 + 2.22 + 32 + 2.42 + 52 + 2.62 + ...

https://dl.doubtnut.com/l/_qiKcs63o3xxu
https://dl.doubtnut.com/l/_mU6WIV3QN9FA


D. 4040

Answer: A

Watch Video Solution

17. Show that If  is a perfect

square, then the quantities a, b, c are in harmonic progresiion

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: A

Watch Video Solution

a(b − c)x2 + b(c − a)xy + c(a − b)y2 = 0

https://dl.doubtnut.com/l/_mU6WIV3QN9FA
https://dl.doubtnut.com/l/_TR7QbelKGP5j


18. If  and , then prove that 

 are in H.P.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

+ + + = 0
1

a

1

a − b

1

c

1

c − b
a + c − b ≠ 0

a, b, c

19. If a,b,c, are in A.P., b,c,d are in G.P. and c,d,e, are in H.P., then a,c,e are in

A. A.P

B. G.P.

C. H.P.

D. none of these

https://dl.doubtnut.com/l/_ufExPYDeK1Ib
https://dl.doubtnut.com/l/_KYErg4ZZ89yw


Answer: B

Watch Video Solution

20. The sum of the first 10 terms common to the series 17, 21, 25, ... and 16,

21, 26,31 ,  is

A. 1100

B. 1010

C. 1110

D. 1200

Answer: C

Watch Video Solution

⋯

21. If the sum of an infinite G.P. is  and sum of the squares of its terms is

 then the sum of the cubes of its terms is

7
2

147

16

https://dl.doubtnut.com/l/_KYErg4ZZ89yw
https://dl.doubtnut.com/l/_l39qy581uEjy
https://dl.doubtnut.com/l/_xSQZJqSVykXq


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

315

19

700
39

985

13

1029

38

22. 

A. a+2007d

B. a+1004d

C. a+1003d

D. none of these

Answer: C

Watch Video Solution

2006

∑
r= 0

( − 1)r(a + rd) =

https://dl.doubtnut.com/l/_xSQZJqSVykXq
https://dl.doubtnut.com/l/_FgIhSpnw772P


Watch Video Solution

23. If a, b, c and d are in G.P. show that

.

A. 1

B. 2

C. 3

D. none of these

Answer: A

Watch Video Solution

(a2 + b2 + c2)(b2 + c2 + d2) = (ab + bc + cd)2

24. If a, b, c, d are in GP, prove that 

.

A. 

B. 

(b − c)2 + (c − a)2 + (d − b)2 = (a − d)2

(c + d)2

(c − d)2

https://dl.doubtnut.com/l/_FgIhSpnw772P
https://dl.doubtnut.com/l/_kYz7DnCBnkVb
https://dl.doubtnut.com/l/_u2vbHPUZ68dM


C. 

D. 

Answer: D

Watch Video Solution

(a + d)2

(a − d)2

25. There are m A.M.s' between 1 and 31 . If the ratio of the  and 

 means is 5:9 then m=

A. 10

B. 12

C. 14

D. 16

Answer: C

Watch Video Solution

7th

(m − 1)th

https://dl.doubtnut.com/l/_u2vbHPUZ68dM
https://dl.doubtnut.com/l/_zAiivNZrSmHr
https://dl.doubtnut.com/l/_2ppiSFj4tTdO


26. If one G.M., G and two A.M.\'s p and q be inserted between two given

quantities, show that .

A. 1

B. 

C. 2

D. 

Answer: B

Watch Video Solution

G2 = (2p − q)(2q − p)

−1

−3

27. If

equals.

A. 1

B. 2

x = 111....(20digits), y = 333....(10digits) and z = 222.....2(10digits), th

https://dl.doubtnut.com/l/_2ppiSFj4tTdO
https://dl.doubtnut.com/l/_FlKd9i2NokUw


C. 

D. 3

Answer: A

Watch Video Solution

1

2

28. The sum of the series ….. To 20 terms is

A. 319600

B. 321760

C. 306000

D. 347500

Answer: A

Watch Video Solution

13 + 33 + 53 +

https://dl.doubtnut.com/l/_FlKd9i2NokUw
https://dl.doubtnut.com/l/_L40ntoSCCVQ7


29.  of two numbers are 10 and 8 respectively. The

numbers are

A. 5,20

B. 4,25

C. 2,50

D. 1100

Answer: A

Watch Video Solution

G. M and H. M

30. If the sum of m consecutive odd integers is  , then the first integer

is

A. 

B. 

C. 

m4

m3 + m + 1

m3 + m − 1

m3 − m − 1

https://dl.doubtnut.com/l/_5QEZ8KTqdUjo
https://dl.doubtnut.com/l/_iGdfUAHUUdD7


Wb Jee Workout Category 2 Single Option Correct Type 2 Marks

D. 

Answer: D

Watch Video Solution

m3 − m + 1

1. If  then a,b,c,d are in (A) H.P. (B) G.P. (C) A.P.

(D) none of these

A. A.P

B. G.P.

C. H.P.

D. A.G.P.

Answer: C

Watch Video Solution

= b d = 3( )
b + c

a + d

c

a

b − c

a − d

https://dl.doubtnut.com/l/_iGdfUAHUUdD7
https://dl.doubtnut.com/l/_Nd0f7REdTuc1


2. The A.M. between m and n and the G.M. between a and b are each equal

to  . Then m=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ma + nb

m + n

a√b

√a + √b

b√a

√a + √b

2a√b

√a + √b

2b√a

√a + √b

3. If 
 is an A.P. with common difference 
 then prove that


A. 

B. 

a1, a2, a3, , an d,

tan[tan− 1( ) + tan− 1( ) + tan− 1( )] =
d

1 + a1a2

d

1 + a2a3

d

11 + an− 1an

tan− 1 nd

1 + a1an+ 1

tan− 1 (n + 1)d

1 + a1an+ 1

https://dl.doubtnut.com/l/_Nd0f7REdTuc1
https://dl.doubtnut.com/l/_lCn9jBtlSev2
https://dl.doubtnut.com/l/_AIEcJyx2f6xJ


C. 

D. 

Answer: A

Watch Video Solution

tan− 1 (n + 1)d

1 + a1an+ 1

tan− 1 (n + 1)nd

1 + a1an+ 1

4. The values of  is  or  according as the series  is an

 or  Find the values of  assuming them to be positive

integer.

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

xyz
15

2

18

5
a, x, y, z, b

AP HP . a&b

https://dl.doubtnut.com/l/_AIEcJyx2f6xJ
https://dl.doubtnut.com/l/_hll6PFznpuuS


5. If positive numbers a, b, c are in H.P, then minimum value of

 is

A. `1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

+
a + b

2a − b

c + b

2c − b

6. In an A.P the sum of the first n terms bears a constant ratio  with the

sum of the next n terms then  =

A. 

B. 

λ

λ

1
2

1

3

https://dl.doubtnut.com/l/_hll6PFznpuuS
https://dl.doubtnut.com/l/_Zow2KuH64KOL
https://dl.doubtnut.com/l/_y7MLnxgKSFhu


C. 

D. 

Answer: B

Watch Video Solution

1

4

2

5

7. If 2, 7, 9 and 5 are subtraced respectively from four numbers in

geometric progression, then the resulting numbers are in arithmetic

progression. The smallest of the four numbers is

A. 

B. 

C. 6

D. 3

Answer: A

Watch Video Solution

−24

−12

https://dl.doubtnut.com/l/_y7MLnxgKSFhu
https://dl.doubtnut.com/l/_R059Fmx40QjL


8. The sum of 50 terms of the series 
is


b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ + +
3

12

5

12 + 22

7

12 + 22 + 32

100

17

150

17

200

51

50

17

50

17

100

17

150

17

200

71

9. The coefficient of  in the polynomial 

 is :

A. 1025

B. 1240

x8

(x − 1)(x − 2)(x − 3)…. . (x − 10)

https://dl.doubtnut.com/l/_R059Fmx40QjL
https://dl.doubtnut.com/l/_rbI0XFLFsmRw
https://dl.doubtnut.com/l/_9r65TKAhhtEw


C. 1320

D. 1440

Answer: C

Watch Video Solution

10. If A, G, H are respectively the A.M., G.M., H.M. of three numhers ,

then the cquation whose roots are  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

α, β, γ

α, β, γ

x3 − 3Ax2 + x + G3 = 0
G3

H

x3 − 3Ax2 + x − G3 = 0
G3

H

x3 − 3Ax2 − x − G3 = 0
G3

H

https://dl.doubtnut.com/l/_9r65TKAhhtEw
https://dl.doubtnut.com/l/_IzOwcznWOysm
https://dl.doubtnut.com/l/_aL5sV7yI26fi


11. (i) a , b, c are in H.P. , show that  

(ii) If  are A.P. then b + c , c + a , a + b are in H.P. .

A. A.P

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

+ = 2
b + a

b − a

b + c

b − c

a2, b2, c2

12. If b+c,c+a,a+b are in H.P., then 

A. A.P.

B. G.P.

C. H.P.

D. none of these

, ,
b + c

a

c + a

b

a + b

c

https://dl.doubtnut.com/l/_aL5sV7yI26fi
https://dl.doubtnut.com/l/_ntyEIdvNmu2H


Answer: C

Watch Video Solution

13. If , ., are the sums of infinite geometric series whose first

terms are 1, 2, 3,…… ,n and common ratios are  then 

=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S1, S2, ⋯Sn

, , , ⋯,
1

2

1

3

1

4

1

n + 1

S1 + S2 + S3 + ⋯ + Sn

n(n + 1)

2

(n + 1)(n + 3)

2

n(n + 2)

2

n(n + 3)

2

14. The sum of the first 10 terms of  is+ + + + ⋯
3

2

5

4

9

8
17
16

https://dl.doubtnut.com/l/_ntyEIdvNmu2H
https://dl.doubtnut.com/l/_KkANMlRLAMJg
https://dl.doubtnut.com/l/_5ucdJoJ5bEv6


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

10 − 210

9 − 2− 10

11 − 2− 10

15. If  are in , then the equations  and 

 have a common root if are in

A. A.P.

B. G.P.

C. H.P.

D. No definite sequence

Answer: A

a, b, c GP ax2 + 2bx + c = 0

dx2 + 2ex + f = 0 , ,
d

a

e

b

f

c

https://dl.doubtnut.com/l/_5ucdJoJ5bEv6
https://dl.doubtnut.com/l/_DuwIyjOGYvhw


Wb Jee Workout Category 3 One Or More Than One Option Correct Type 2

Marks

Watch Video Solution

1. If the distinct numbers a, b, c are in G.P. while a - b, c-a,b-c are in H.P.,

then  =

A. 2

B. 

C. 3

D. 

Answer: A::D

View Text Solution

a + c

b

−2

−4

https://dl.doubtnut.com/l/_DuwIyjOGYvhw
https://dl.doubtnut.com/l/_KCakGFn7qaIO


2. There are two numbers a and b whose product is 192 and the quotient

of AM by HM of their greatest common divisor and least common

multiple is `(169)/(48). The smaller of a and b is

A. 2

B. 4

C. 6

D. 12

Answer: B::D

Watch Video Solution

3. If the sides of a right angled triangle are in A.P., then 

A. 

B. 

C. 

=
R

r

5

2

7

3

9

4

https://dl.doubtnut.com/l/_Ag6rkzoHsCLh
https://dl.doubtnut.com/l/_gvbBy6PBnrca


D. 

Answer: A

Watch Video Solution

8

3

4. If  terms of the A.P. a, a+d ,a+2d , …… are

in G.P. while m,n,r are in H.P. , then  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(m + 1)th, (n + 1)th, (r + 1)th

d

a

1

n

−
1

n

−
2

n

2

n

https://dl.doubtnut.com/l/_gvbBy6PBnrca
https://dl.doubtnut.com/l/_pUioxuWPWV6j


5. Let , be the sum of an infinite geometric series whose first term is

kand common ratio is  . Then the value of  is

equal to

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

Sk

(k > 0)
k

k + 1

∞

∑
k= 1

( − 1)k

Sk

1 − 4loge√2

loge2 − 1

1 − loge2

1 − loge4

6. If a,b,c are in H.P., then the expression E=

 equals

A. 

B. 

( + − )( + − )
1

b

1

c

1

c

1

c

1

a

1

b

−
2

bc

1

b2

( + − )
1

4

3

c2

2

ca

1

a2

https://dl.doubtnut.com/l/_yLyXXj7Li5iE
https://dl.doubtnut.com/l/_bSZV1N8rQZRK


C. 

D. none of these

Answer: A::B::C::D

Watch Video Solution

−
3

b2

2

ab

7. Sides of triangle ABC, a, b, c are in G.P. If 'r' be the common ratio of this

G.P. , then

A. 

B. 

C. 

D. none of these

Answer: A::B

Watch Video Solution

1 < r < 2cos 36∘

2sin 18∘ < r < 1

r2 + r− 2 = 4

https://dl.doubtnut.com/l/_bSZV1N8rQZRK
https://dl.doubtnut.com/l/_lQ3q3I0WFtRn
https://dl.doubtnut.com/l/_VIZmoBHnvkyL


8. If , then

A.  is greatest when a =

B.  is greatest when b =

C.  is greatest when c =

D. greatest value of  is 

Answer: A::B::C::D

Watch Video Solution

a > 0, b > 0, c > 0 and 2a + b + 3c = 1

a4b2c2 1

4

a4b2c2 1

4

a4b2c2 1

12

a4b2c2 1

9.48

9. The fourth term of the A.G.P. 6, 8, 8,…….. is

A. 0

B. 12

C. 

D. 

32

3

64
9

https://dl.doubtnut.com/l/_VIZmoBHnvkyL
https://dl.doubtnut.com/l/_Wgng1BueNsNP


Answer: A::D

Watch Video Solution

10. Let . Then  can take values

A. 1056

B. 1088

C. 1120

D. 1332

Answer: A::D

Watch Video Solution

Sn =
4n

∑
k= 1

( − 1) k2
k(k+ 1 )

2 Sn

11. Let a, x, b are in A.P., a, y, b are in G.P. and a, z, b are in H.P. If 

and  then (where )

x = y + 2

a = 5z a, b, ceR ⋅

https://dl.doubtnut.com/l/_Wgng1BueNsNP
https://dl.doubtnut.com/l/_RCNZKZ8hyDhF
https://dl.doubtnut.com/l/_vNADKWkE2yyV


A. 

B. 

C. a=9,b=1

D. 

Answer: A::B::C

Watch Video Solution

y2 = xz

x > y > z

a = , b =
1

4

9

4

12. If angles  are in  then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A, B, and C A. P . ,
a + c

b

2 sin( )
A − C

2

2 cos( )
A − C

2

cos( )
A − C

2

sin( )
A − C

2

https://dl.doubtnut.com/l/_vNADKWkE2yyV
https://dl.doubtnut.com/l/_u8yd4CLgd2cK


13. The sum of the series

 upto n terms is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + 2) + (1 + 2 + 22) + (1 + 2 + 22 + 23) + ….

2n+ 2 − n − 4

2(2n − 1) − n

2n+ 1 − n

2n+ 1 − 1

14. The AM of two numbers exceeds their GM by 15 & HM by 27.Find the

numbers.

A. 30, 128

B. 30, 120

https://dl.doubtnut.com/l/_u8yd4CLgd2cK
https://dl.doubtnut.com/l/_FtuthJq0TR0i
https://dl.doubtnut.com/l/_A1A6nfNHKYiJ


C. 50, 3

D. none of these

Answer: B

Watch Video Solution

15. If x, y, z are in H.P., then the value of  is

A. independent of x

B. independent of y

C. independent of z

D. 1

Answer: A::B::C

Watch Video Solution

+
x + y

y − x

y + z

y − z

https://dl.doubtnut.com/l/_A1A6nfNHKYiJ
https://dl.doubtnut.com/l/_z3aRX6UQMe95
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Mark

1. Five numbers are in H.P. The middle term is 1 and the ratio of the

second and the fourth terms is 2:1. Then the sum of the first three terms

is

A. 

B. 5

C. 2

D. 

Answer: A

Watch Video Solution

11/2

14/3

2. The value of 

 is equal to1000[ + + + ⋯ + ]
1

1 × 2

1

2 × 3

1

3 × 4

1

999 × 1000

https://dl.doubtnut.com/l/_NEDuV73kk55I
https://dl.doubtnut.com/l/_TOpPPR2eGrzs


A. 1000

B. 999

C. 1001

D. 

Answer: B

Watch Video Solution

1/999

3. Six positive numbers are in G.P., such that their product is 1000. If the

fourth term is 1, then the last term is

A. 1000

B. 100

C. 

D. 

Answer: C

1/100

1/1000

https://dl.doubtnut.com/l/_TOpPPR2eGrzs
https://dl.doubtnut.com/l/_LHdRUdonHgfm


Watch Video Solution

4. Five numbers are in A.P. with common diference . If the  and

 terms are in G.P., then

A. the  term is always 0

B. the  term is always 0

C. the middle term is always 0

D. the middle term is always-2

Answer: A

Watch Video Solution

≠ 0 1th, 3th

4th

5th

1st

5. 

A. 

B. 

[ + + + , + ] =
1

1 × 2

1

2 × 3

1

3 × 4

1

99 × 100

P = Q

2P = Q

https://dl.doubtnut.com/l/_LHdRUdonHgfm
https://dl.doubtnut.com/l/_XUTruevQkhqd
https://dl.doubtnut.com/l/_g93rlkE1Z0nN


C. P=2Q

D. P=4Q

Answer: C

Watch Video Solution

6. Let S denote the sum of the infinite series 

 + ….. Then

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1 + + + +
8

2!

21

3!

40

4!

65

5!

S < 8

S > 12

8 < S < 12

S = 8

https://dl.doubtnut.com/l/_g93rlkE1Z0nN
https://dl.doubtnut.com/l/_vVJ8cic8Ts64
https://dl.doubtnut.com/l/_NGNLgNf8MvBn


7. Let  be the roots of  for all

integers  Then, for every integern 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β x2 − x − 1 = 0 and Sn = αn + βn,

n ≥ 1. n ≥ 2.

sn + Sn− 1 = Sn+ 1

Sn − Sn− 1 = Sn+ 1

Sn− 1 = Sn+ 1

Sn + Sn− 1 = 2Sn+ 1

8. If  Then. The number of real values of x for which the

three unequal terms f(x) , f(2x) and f(4x) are in HP is

A. 1

B. 0

C. 3

f(x) = x + 1/2

https://dl.doubtnut.com/l/_NGNLgNf8MvBn
https://dl.doubtnut.com/l/_lIO371QrI84p


D. 2

Answer: A

Watch Video Solution

9. For every real number x. let

 


Then the equation f(x) = 0 has

A. no real solution

B. exactly one real solution

C. exactly two real solutions

D. infinite number of real solutions

Answer: B

View Text Solution

f(x) = + x2 + x3 + x4 + ⋯
x

1!

3

2!

7

3!

15

4!

https://dl.doubtnut.com/l/_lIO371QrI84p
https://dl.doubtnut.com/l/_P1iR3FkVMvgF
https://dl.doubtnut.com/l/_lvAfdU8plB3Y


10. Let d(n) denote the number of divisors of n including 1 and itself. Then

 are (a) In AP (6) In HP(c) In GP (d)

Consecutive integers

A. in A.P.

B. in H.P

C. in G.P.

D. consecutive integers

Answer: C

Watch Video Solution

d(225), d(1125) and d(640)

11. If  arereal numbers and  then 

 is equal to

A. 

B. 

a, x |a| < 1, |x| < 1

1 + (1 + a)x + (1 + a + a2)x2 + ...∞

1

(1 − a)(1 − ax)

1

(1 − a)(1 − x)

https://dl.doubtnut.com/l/_lvAfdU8plB3Y
https://dl.doubtnut.com/l/_26p64RM6J3fC


C. 

D. 

Answer: C

Watch Video Solution

1

(1 − x)(1 − ax)

1

(1 − ax)(1 − a)

12. In a G.P. of positive terms if any terms is equal to the sum of next
tow

terms, find the common ratio of the G.P.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

√5 − 1

2

√5

2

√5 + 1

2

https://dl.doubtnut.com/l/_26p64RM6J3fC
https://dl.doubtnut.com/l/_efx5ecykgBmX
https://dl.doubtnut.com/l/_a0Frtck088F9


13. Given that n arithmetic means are inserted between two sets of

numbers a,2b, and 2a,b,2a,b where a,b, . Suppose further that 

mean between these two sets of numbers is same, then the ratio a:b

equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∈ R mth

n − m + 1:m

n − m + 1: n

n : n − m + 1

m : n − m + 1

14. The three sides of a right-angled triangle are in G.P. (gcometric

progression). If the two acute angles be  and  then tan  and tan  are

A. 

α β α β

and
√5 + 1

2

√5 − 1

2

https://dl.doubtnut.com/l/_a0Frtck088F9
https://dl.doubtnut.com/l/_oZs1aWoGdhbz
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B. 

C.  and 

D. 

Answer: B

View Text Solution

√ and√
√5 + 1

2

√5 − 1

2

√5
1

√5

and
√5

2

2

√5

1. Let  and 

 Then the value of  y is

A. e

B. 

C. 1

D. 

x = 1 + + + + ...
1

2 × ⌊1

1

4 × ⌊2

1

8 × ⌊3

y = 1 + + + + .... .
x2

⌊1

x4

⌊2

x6

⌊3
loge

e2

1/e

https://dl.doubtnut.com/l/_oZs1aWoGdhbz
https://dl.doubtnut.com/l/_UD5kU78YIn8q


Answer: A

Watch Video Solution

2. The value of the infinite series .... Then the value

of  y is

A. e

B. 5e

C. 

D. 

Answer: C

View Text Solution

+ +
12 + 22

⌊1

x4

⌊2

x6

⌊3

loge

−
5e

6

1

2

5e

6

3. Sum of n terms of the following series13 + 33 + 53 + 73 +

https://dl.doubtnut.com/l/_UD5kU78YIn8q
https://dl.doubtnut.com/l/_n1LNq7qf1zuV
https://dl.doubtnut.com/l/_sU71cVtkCnbb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n2(2n2 − 1)

n3(n − 1)

n3 + 8n + 4

2n4 + 3n2

4. Let  and  then

the value of  is :

A. 

B. 

C. 

D. 

Answer: C

a = min {x2 + 2x + 3, x ∈ R} b = lim
θ→ 0

1 − cos θ

θ2

n

∑
r= 0

ar ⋅ bn−r

2n+ 1 − 1

3.2n

2n+ 1 + 1

3.2n

4n+ 1 − 1

3.2n

(2n− 1)
1

2

https://dl.doubtnut.com/l/_sU71cVtkCnbb
https://dl.doubtnut.com/l/_1H3gUV55m9RW


Watch Video Solution

5. If the first and  terms of an A.P, a G.P and an H.P of positive

terms are equal and their  terms are  respectively then

A. a+c=b

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

(2n − 1)th

(n + 1)th a, b&c

a ≥ b ≥ c

a + c = b

ac − b2 = 0

https://dl.doubtnut.com/l/_1H3gUV55m9RW
https://dl.doubtnut.com/l/_XxEGBcF6OMZX

